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IO PORTARE

IO MANDARE

TU NUOTARE
TU PENSARE
LEI TORNARE
VOI PORTARE
IO CUCINARE
LEI PORTARE
NOI PORTARE
IO LAVORARE
TU IMPARARE
TU ARRIVARE
LORO ABITARE
LORO NUOTARE
LEI ARRIVARE
LEI IMPARARE
LEI ASPETTARE
TU COMINCIARE
LORO COMINCIARE

Il presente (-are verbs)
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TU PORTARE

IO NUOTARE

TU MANDARE

TU ABITARE

TU GUARDARE
VOI TORNARE
LEI NUOTARE

LEI PENSARE

TU LAVORARE

IO GUARDARE
LEI MANDARE
LEI GUARDARE
VOI LAVORARE
LORO PORTARE
LEI LAVORARE
LORO GUARDARE
LEI CAMMINARE
LORO LAVORARE

m>» ™ 1 A< O00mnM-H4H0z200>»=Z2<Z01Tr>r
4O m>» DI Z>—-—>mMrHCCH>»000-—-XK
>rrrH4X-—-—->»00-—-—-TUTSsSCO>»0O0ZZ2z2 -
4> Z2000X0T$ZXAWWUVTWCOOX»>» X
zZzZ2ZIOnnoOHD>»> —mMm>»»r0O0 20 7T 0 —03x
OI>»PI X NP>PCZIZWO>»TVOSO<AHD>P
TCOXXX4H4COWMW-—-—IA>»TA<<-—-T7TSE85
O>»®WW— 44— —4X—-—CHTT>»> 0V OT

> 4 0CzZ2>r»r=Z20sSwWOO0OC<IW®MECDND=<O

TU TORNARE

IO TORNARE

IO PENSARE

IO ABITARE

NOI NUOTARE
VOI MANDARE
VOI NUOTARE

10 IMPARARE
LEI ABITARE

VOI PENSARE

IO ARRIVARE
NOI ARRIVARE
LORO PENSARE
LEI CUCINARE
LORO TORNARE
LORO ARRIVARE
LORO CUCINARE
LORO CAMMINARE
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